

Une cada operación con el resultado correcto:

$7 \times 4 =$

$6 \times 9 =$

$7 \times 9 =$

$4 \times 8 =$

$8 \times 5 =$

$5 \times 5 =$

$4 \times 4 =$

$3 \times 6 =$

$8 \times 7 =$

$6 \times 10 =$

$8 \times 8 =$

$7 \times 6 =$



Escribe el resultado de cada operación:

$2 \times 4 =$

$2 \times 10 =$

$2 \times 6 =$

$5 \times 4 =$

$5 \times 9 =$

$5 \times 7 =$

$6 \times 6 =$

$6 \times 8 =$

$6 \times 4 =$

$3 \times 8 =$

$3 \times 7 =$

$3 \times 2 =$

$7 \times 3 =$

$7 \times 4 =$

$7 \times 6 =$

$8 \times 8 =$

$8 \times 9 =$

$8 \times 10 =$

